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Worksheet - Titration Problems

What is the M of NaOH if it takes 40.0 ml of NaOH to reach the equivalence

point in a titration with 50.0 ml of 0.200 M HCI?
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50. ml of 0.30 M KOH are required to titrate 60. ml of H>S0O,. What is the M of
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60.0 ml of 1.20 M NaOH are required to titrate 40.0 ml of HF. What is the M of
the HF?
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What volume of 0.40 M NaOH would be required to titrate 100. ml of 0.25 M
HCI? Naok + Hel—> Nact + H>©
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40.0 ml of 0.100M H3POy are required to titrate 150.0 ml of NaOH to the

equivalence point. What is the M of the NaOH?
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6. 55 ml of 1.2 M HC;H30; are used to titrate a sample of 0.67 M Ba(OH),. What is

volume of the Ba(OH), used? 2de, 1 a0, + 61(o+(> -~ Ra(G l—L;O;)) +2H,0
= (™MK a e
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7. 90.0 ml of 0.255 M Ca(OH), are required to titrate 100.0 ml of HCl. What is M
of the HC1?
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8. 50.2 ml of 0.453M Sr(OH), are required to titrate a .755 M H,SO4 sample. What
is the volume of the H,SO,?
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9. Would it take more or 0.10 M H;SOj, to neutralize 30. ml of NaOH?
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10.  30.3 ml of 0.305 M NaOH are required to titrate HyPO4 to the equivalence point.
How many moles of H3POq are needed to reach the equivalence point?
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